


 

 

 

     

 

Q1.Ballet : Dance :: 

(a) book : novel     (b) theater : play 

(c) sonnet : poem     (d) artist : sculptor 

Q2.The state of being lost in thought is 

(a) Phantom      (b) Reverie  

(c) Palimpsest       (d) Curio 

Q3.It is a blue collar town with a lot of farmers and factory workers. The underlined idiom 

means 

(a) manual work      (b) selling blue collar  

(c) famous       (d) unemployed 

Q4.Richard got his finger caught in the doorjamb and it was two days afterwards. 

(a) soar      (b) sear  

(c) sire       (d) sore 

Q5.The judge said that he was…………by the high standards of  performance by the riders. 

(a) excited      (b) impressed 

(c) interested       (d) imposed 

Q6.I don't suppose anyone will volunteer for this kind of work,__ 

(a) Will they       (b) Won't they  

(c) Don't they       (d) Would they 

Q7.He is extraordinarily…………………..his friends. 

(a) clever for mimicking    (b) clever in mimicking 

(c) clever to mimick      (d) clever at mimicking 

Q8.Chauvinistic means 

(a) blatantly over patriotic     (b) loud mouthed  



 

 

 

     

(c) highly accomplished •     (d) catering to people of power 

Q9.Identify the correct sentence: 

(a) The sights of Shimla are more beautiful than of Kulu.  

(b) The sights of Shimla are more beautiful than that of Kulu.  

(c) The sights of Shimla is more beautiful than that of Kulu.  

(d) The sights of Shimla are more beautiful than in Kulu. 

Q10. The passive voice of.  Are you writing a letter?  is 

(a) Is letter written by you?    (b) Is a letter being written by you? 

(c) Is letter written by him?    (d) Is the letter written by him? 

Q11. Two and two…………..four. 

(a) Makes      (b) Make 

(c) Completes      (d) Are making 

Q12. The reported speech of 

The spectators said, "Bravo! Well played Virat." is 

(a) The spectators called Virat Brave because he played well.  

(b) The spectators said that Virat played well and applauded him. 

(c) The spectators encouraged Virat saying he played well.  

(d) The spectators applauded Virat, saying that he played well. 

Q13.The passengers and the crew members of the plane had a…………..escape. 

(a) little      (b) narrow  

(c) brief       (d) large 

Q14.The indirect form of the narration of John said, “India became free in 1947" is : 

(a) John said that India had became free in 1947 

(b) John said that India became free in 1947 

(c) John asserted that India became free in 1947  



 

 

 

     

(d) John said that India had become independent in 1947 

Q15.In a large group of people, mostly consisting of strangers, Jyoti often seemed ………and 

aloof, although among her friends and family she was quite……….. 

(a) reticent .........convivial    (b) gregarious .....outgoing 

(c) detrimental .....multifarious   (d) unattainable ......taciturn 

Q16.prolific : writer 

……………..: reader 

(a) voracious       (b) vociferous  

(c) vocal       (d) terrific 

Q17.By taking one of our two-centre holidays you can, as it were, kill two birds with one 

(a) bullet      (b) stone  

(c) shot      (d)stick 

Q18.The meaning of the expression “Achilles heel” is: 

(a) A weakness     (b) A positive characteristic 

(c) A plus point      (d) A twisted heel 

Q19.Find the part of sentence which has an error. It being a holiday, (A) / every student wanted 

(B) / to leave (C)/ for their hometown (D). 

(a) (A)       (b) (B)  

(c) (C)        (d) (D) 

Q20.Choose the correct option: Prayer for help  

(a) location      (b) lingua franca 

(c) malignant       (d) invocation 

Q21. The synonym of „MODEST' is 

(a) Humble       (b) Sufficient  

(c) Meagre       (d) Sober 

Q22. The antonym of 'STRANGE' is 



 

 

 

     

(a) Unknown      (b) Astonishing 

(c) Foreign      (d) Familiar 

Q23.The synonym of 'ALLY' is 

(a) Friend      (b) Accomplice 

(c) Counterpart     (d) Unknown 

Q24.The antonym of the word 'MANIFEST' is 

(a) Latent      (b) Manifesto 

(c) Clear      (d) Lucid 

Q25.The synonym of 'IMPEDIMENT' is 

(a) Clear      (b) Ailment 

(c) Incapable      (d) Obstruction 

Q26. “At the drop of a hat" means 

(a) at once      (b) dropping a hat 

(c) bad manners     (d) annoying someone 

Q27.The synonym of 'SPURIOUS” is : 

(a) Authentic      (b) False  

(c) Right       (d) Pure 

Q28.Questions will be answered by a……………..of experts. 

(a) Staff       (b) Band 

(c) Bunch      (d) Panel 

Q29."To die in harness" means : 

(a) To die in sleep     (b) To die while harnessing a horse 

(c) To die while still in service   (d) None of the above 

Q30.The synonym of 'ADVANCE' is 

(a) Reduce       (b) Flexible  



 

 

 

     

(c) Progress      (d) Extend 

Q31.Find the part of sentence which has an error.  

She counted the books (A) / to make sure that (B) / none of them (C) / were missed (D).  

(a) (A)       (b) (B)  

(c) (C)        (d) (D) 

Q32.The officer warned me………..the office until five o'clock. 

(a) to leave      (b) don't leave 

(c) not to leave     (d) to not leave 

Q33.Choose the correct option Hari said that he had been waiting for ages.  

(a) Hari said, "He had been waiting for ages”  (b) Hari said, "I had been waiting for ages". 

(c) Hari said, “I have been waiting for ages”.  (d) Hari said, "I have waited for ages". 

Q34………………many times every winter in Frankfurt. 

(a) It shows      (b) It showed 

(c) It is showing     (d) It is snow 

Q35.The passive voice of „Farmers sow maize in the rainy season.' is  

(a) Maize is sown in the rainy season.   (b) Maize is being sown in the rainy season 

(c) Farmers sow the maize in the rainy season. (d) None of the above. 

Q36. An 'ACCOMPLICE' is: 

(a) a common man     (b) a police officer 

(c) one who sings beautifully    (d) an associate in crime 

Q37.The word 'APPREHEND' means to : 

(a) anxiety      (b) arrest 

(c) afraid      (d) advance 

Q38.The word 'IMPEACH' means to : 

(a) Charge with theft in trade    (b) Charge with kidnapping a child  



 

 

 

     

(c) Trade in peaches, apples and grapes   (d) Charge with misconduct in office 

Q39. Fill in the blank with the correct pronoun 

One cannot be too careful about what…………..says. 

(a) he        (b) she  

(c) one       (d) they 

Q40.Fill in the blank with the correct article : "What is…………verdict, gentlemen of the jury ?"  

(a) a        (b) an  

(c) the       (d) no article required 

Q41.In the Indian Constitution, the concepts, 'Power of Judicial Review and Independence of 

Judiciary' arc borrowed from: 

(a) British Constitution     (b) United States Constitution  

(c) Canadian Constitution     (d) French Constitution 

Q42.Which of the following is the best description of Fundamental Rights? 

(a) All the rights an individual should have. 

(b) All the rights given to citizens by law.  

(c) The rights given by the Constitution that cannot ever be restricted 

(d) The rights given and protected by the Constitution. 

Q43.Which of the following is not a Fundamental Right? 

(a) Right Against Economic Exploitation  (b) Cultural and Educational Rights  

(c) Right to Freedom of Religion    (d) Right to Constitutional Remedies 

Q44.Which one of the following tasks are not performed by the Election Commission? 

(a) Preparing the Electoral Roll    (b) Setting up polling booths 

(c) Implementing the model code of conduct  (d) supervising the Panchayat elections 

Q45.The Headquarters of 'INTERPOL' (International Police) is situated in: 

(a) London (England)     (b) Vienna (Austria) 



 

 

 

     

(c) Lyon (France)     (d) Geneva (Switzerland) 

Q46.The distinguishing feature of a federal government is: 

(a) National government gives some powers to the provincial government 

(b) Elected officials exercise supreme power in the government  

(c) Governmental power is divided between different levels of government 

(d) Power is distributed among the legislature, executive and judiciary 

Q47.In the Indian Constitution the idea of the "Rule of Law" is borrowed from: 

(a) British Constitution     (b) Irish Constitution  

(c) United States Constitution    (d) French Constitution 

Q48.In Indian Constitution the 'principle of liberty, equality and fraternity was borrowed from 

which one of the following Constitutions, 

(a) Irish       (b) French  

(c) British      (d) Canadian 

Q49.The Government of India enacted the Forest Conservation Act in the year : 

(a) 1976       (b) 1980  

(c) 1983       (d) 1988 

Q50.The Anarchical and Revolutionary Crime Act (1919) was popularly known as the: 

(a) Rowlatt Act      (b) Libert Bill  

(c) Indian Arms Act      (d) Pitt's India Act 

Q51.The first among the Indian Princes to ban untouchability in his state and lead the anti 

Brahmin Movement was: 

(a) Raja Mahendra Pratap    (b) Chhatrapati Shahu  

(c) Fateh Singh Gaekwad     (d) Malhar Rao Holkar 

Q52.The Constitution of UNO is called : 

(a) Magna Carta     (b) Peace Agreement 

(c) Charter       (d) Declaration 



 

 

 

     

Q53.The origin of the phrase 'United Nations' is associated with which one of the following 

personalities?  

(a) Jawaharlal Nehru      (b) Franklin D. Roosevelt  

(c) Charles De Gaulle     (d) Woodrow Wilson 

Q54.The six official languages of the UN, are Russian, Chinese, English, French, Spanish and 

(a) Hindi       (b) Urdu  

(c) Japanese      (d) Arabic 

Q55.The normal term of Lok Sabha can be extended by an Act of Parliament itself during 

Emergency for a period up to 

(a) four months at a time    (b) six months at a time 

(c) one year at a time     (d) two years at a time 

Q56.The ideals of liberty, equality and fraternity in the Preamble of the Indian Constitution are 

taken from the  

(a) French Constitution    (b) Irish Constitution 

(c) English Constitution    (d) American Constitution 

Q57.How many judges including the Chief Justice, are there in the Supreme Court of India? 

(a) 26        (b) 31 

(c) 21       (d) 15 

Q58.Law day is observed on: 

(a) 26th January     (b) 26th December 

(c) 26th November     (d) 26th October 

Q59. Who is present Attorney General of India ? 

(a) K.K. Venugopal     (b) Mukul Rohatgi 

(c) Fali Sam Nariman     (d) Soli Sorabjee 

Q60.Right to Privacy in India is a 

(a) Legal right      (b) Fundamental right  



 

 

 

     

(c) Democratic right      (d) Human right 

Q61.Which country has become the first country in the world to make broadband internet access 

a legal right of all citizens? 

(a) UK       (b) USA  

(c) India       (d) Finland 

Q62.Name the State in India with the largest coastline? 

(a) Tamil Nadu     (b) Kerala  

(c) Gujarat       (d) Andhra Pradesh 

Q63.Name the first Arab writer awarded Nobel Prize for Literature? 

(a) Naguib Mohfouz     (b) Salman Rushdie 

(c) Yasser Arafat      (d) Mohammad Bin Salman 

Q64.On which date Prime Minister of India announced Demonetisation? 

(a) 7th November, 2016    (b) 8th November, 2015 

(c) 9th November, 2017    (d) 8th November, 2016 

Q65.Which State became the first State in India to ratify GST bill? 

(a) Assam       (b) Bihar  

(c) Gujarat      (d) Haryana 

Q66.Which one of the following is not a feature of the Government of India Act of 1935? 

(a) Dyarchy at the centre as well as in the provinces  (b) A bicameral legislature 

(c) Provincial autonomy      (d) An All India Federation 

Q67.The first English writer to get Gyanpeeth Award was : 

(a) Chetan Bhagat      (b) Amitav Ghosh  

(c) Arundhati Roy       (d) Arvind Adiga 

Q68.Article 360 of the Indian Constitution has provision for : 

(a) National Emergency     (b) Financial Emergency 



 

 

 

     

(c) Defence Emergency       (d) Disaster Emergency 

Q69. Dandi March was organised by Mahatma Gandhi in which year? 

(a) 1920        (b) 1917  

(c) 1930        (d) 1942 

Q70.The Speaker in Lok Sabha is : 

(a) Appointed by President of India 

(b) Nominated by Prime Minister of India 

(c) Elected by the members of Lok Sabha only  

(d) Elected by the members of both Lok Sabha and Rajya Sabha 

Q71.Who was the first Judge against whom impeachment proceedings in the Parliament were 

initiated? 

(a) V. Ramaswami      (b) Deepak Mishra 

(c) K.N. Singh       (d) Y.V. Chandrachud 

Q72. Who was the founder of Arya Samaj”? 

(a) Vivekananda      (b) Radhakant Deb 

(c) Dayanand Saraswati     (d) Gopal Krishna Gokhale 

Q73.Who discovered the smallpox vaccine? 

(a) John Ender       (b) Louis Pasteur 

(c) Edward Jenner       (d) J.E. Salk 

Q74.The tomb of Sikandar Lodhi is in : 

(a) Burhanpur       (b) Mandu 

(c) Jaunpur        (d) New Delhi 

Q75. Who among the following built 'Purana Qila”? 

(a) Sher Shah        (b) Babur  

(c) Akbar        (d) Humayun 



 

 

 

     

Q76.If a no-confidence motion is passed: 

(a) The concerned minister has to resiga  

(b) The whole Council of Ministers has to resign  

(c) The Lok Sabha has to be dissolved  

(d) The Prime Minister and the concerned minister have to resign 

Q77. Mixed economy means an economy where 

(a) Both agriculture and industry are equally promoted by the state 

(b) There is co-existence of public sector along with private sector  

(c). There is importance of small scale industries along with heavy industries 

(d) Economy is controlled by military as well as civilian rulers 

Q78.The book 'Hind Swaraj' was written by : 

(a) Hasrat Mohani      (b) B.G. Tilak 

(c) Mahatma Gandhi       (d) Sardar Patel 

Q79. Who became the first woman lawyer to join the Supreme Court as a Judge directly from the 

Bar? 

(a) Ruma Pal        (b) Indu Malhotra 

(c) Sujata Manohar       (d) R. Bhanumati 

Q80. Which of the following is a renewable source of energy? 

(a) LPG       (b) CNG 

(c) Lignite       (d) Biomass 

Q81.A and B are brothers, C and D are sisters. A's son is D's brother, then how is B related to C? 

(a) Father        (b) Brother 

(c) Grandfather      (d) Uncle 

Q82.Hobnobbing means 

(a) conspiring       (b) quarrelling 



 

 

 

     

(c) having friendly talk     (d) co-operating 

Q83. What was the day on 14th March, 1995? 

(a) Friday       (b) Thursday  

(c) Sunday        (d) Tuesday 

Q84.In a class Rohini is 6th from the top and Priya is 18th from the bottom, Riya is 14 ranks 

below Rohini and 15 ranks above Priya. How many students are there in the class? 

(a) 55         (b) 53  

(c) 52         (d) 51 

Q85.The position of the first and the second digits in the number 6782342056 is interchanged. 

Similarly the position of the third and fourth digits is interchanged and so on. Which of the 

following will be the fourth digit from the right after the rearrangement?  

(a) 3        (b) 6 

(c) 4         (d) 0 

Q86.Six boys are so standing that they form a circle each facing the centre. Manish is to the left 

of Kaushal. Ashish is between Surya and Saurabh. Nitin is between Manish and Surya. Who is to 

the left of Surya? 

(a) Ashish        (b) Saurabh  

(c) Nitin       (d) Kaushal 

Q87.Find the mean of the first five prime numbers. 

(a) 5.6        (b) 6 

(c) 6.6        (d) 7.5 

Q88.An athlete takes 10 rounds of a rectangular park, 50 m long and 25 m wide. Find the total 

distance covered by him 

(a) 1.5 km        (b) 15 km  

(c) 12 km        (d) 1.2 km 

Q89.Cost of 4 dozens bananas is Rs. 60. How many bananas can be purchased for Rs. 12.50 ? 

(a) 10         (b) 11  



 

 

 

     

(c) 12         (d) 13 

Q90.Which word does not belong to others? 

(a) Tulip        (b) Rose  

(c) Bud       (d) Daisy 

Q91.The term 'Butterfly Stroke' is referred to in which sport? 

(a) Wrestling        (b) Volleyball  

(c) Swimming       (d) Tennis 

Q92. The antonym of 'STARTLED' 

(a) Amused        (b) Endless  

(c) Relaxed        (d) Astonished 

Q93. Find the synonym of the word "TRANSCRIBE' 

(a) Adore        (b) Copy  

(c) Overtake        (d) True 

Q94.Find the meaning of the phrase 'To fly off the handle': 

(a) To dislocate      (b) To be indifferent 

(c) To lose one's temper     (d) To be air borne 

Q95.In the following diagram, the boys who are athletic and are disciplined are indicated by 

which number? 

 

(a) 1  (b) 2  (c) 9  (d) 6 



 

 

 

     

Q96. in an election between two candidates, one got 55% of the total valid voles, 20% of the 

votes were invalid. If the total number of votes was 7500, the number of valid votes that the 

other candidate got, was: 

(a) 2500      (b) 2700 

(c) 2900      (d) 3100 

Q97. Choose the word most nearly opposite to the given word. 'TRAGIC' 

(a) Boring      (b) Mysterious 

(c) Comic      (d) Incredulous 

Q98.In the following question, there is a certain relationship between two given words on one 

side of the :: and one word is given on the another side of while another word is to be found from 

the given alternatives, having the same relation with this word as the words of the given pair 

below. Choose the correct alternative. 

Genuine : Authentic :: Mirage: ? 

(a) Reflection      (b) Hideout 

(c) Illusion      (d) Image 

Q99.Match List 1 with List 2 and select the correct answer by using the codes given below: 

List 1 List 2 

(i) Habeas Corpus A.”by what authority or warrant” 

(ii) Mandamus B. “to have the body of” 

(iii) Quo-Warrnato C. “we command” 

(iv) Certiorari D. “ to be certified” 

 

     (i)   (ii)  (iii)  (iv)  

(a) A     B     C      D  

(b) A     C     B      D 

(c) C      B     D     A 

(d) B      C     A      D 

 

 



 

 

 

     

Q100. Substitute one word for the following: 

One who abandons his religious faith  

(a) Apostle       (b) Prostrate  

(c) Profane       (d) Agonistic 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 




